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THE BEGINNING AND THE PHASES OF THE STRIFE 
IN THE COMMUNIST SYSTEM

(contribution to the issue)
Summary

Misunderstandings between the leaderships of SCP(b) and CPY have their long his-
tory, which can be traced back from the period of their formation. For a long time, all dif-
ferences and misunderstandings vere being solved on the highest level and with the clear
implication who the master of the communist house was.

A more intense strife of interests appeared during the Second World War and in the
first post-war years, having its culmination in the spring of 1948. with the fatal rezolution of
the Cominform.

Stalin's attack in 1948. was primarily caused by the independence of the Yugoslav
revolution, by growing Tito's reputation, by Stalin's insatiable appetites for domination over
Eastern Europe, by Yugoslav conception of equal rights of each contry in international rela-
tions and independent inner development. Yugoslavia was defending its position of an ide-
pendent country resisting the Soviet hegemony.

Being isolated from the so called socialist countries, Yugoslavia gained support in the
democratie world, was elected as a member of the Security Council and stressed the impor-
tance of making connections with all progressive movements in the world. Yugoslavia
maneged to make economic connections with Western countries, where the USA gave it a
significant help.

This strife has had long-lasting effects and has represented the first split in the inter-
national communist world. Within the country the result was a elash inside the communist
party, which was accompanied with horrible persecutions. It represented the historical cross-
roads for the character of the development of socialistic countries. It also speaks about the
international and historical position of Yugoslavia during the strife and shows great impact
on the development of the Yugoslav political system and Tito's ideology.
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